Hed? P+ Fupz? e88R 3 kEF A
FRE R XA (I3 EES 28 % TX®$F2)ow:114.6.15
AEHeTEE AR | TFRFES )

—

OF2 L

- &£ - )im"fr'ifﬂ; r'/\:" ”/\6/1%‘,”7"1}%5@°

114 FERATIRBRFELP 62 | PA REFE2HXEPH:8F 2P12 82 3P -
14 FERF2[Z o dtaFHari T &HI Jimo

il mEms o KEAPM L TSk &1 ,%*‘Jﬁﬂ?viﬂgwiﬁ :iio
ERRERL O KFPML TERT EN Y O FFREP YL VL

*#FF F T (FOEEET oI F1irgR(bk #w%ifﬁf’a;ﬁﬁ‘f)’”‘ﬁﬁ - Fe

35 dek - DA (§)5 4 12 o 5 U B F A LR 500 A
FHhd Fas 3§ P4 A
»npagj;gd' kEFEY, HE

A BT

>

FE!

30
lLAZo - oG4 ERFIEDES FRERDEFRE L - (EFEi71 %8
= o $26/2214 )

2. A= P2 -ﬁg;i}%;:llél(l)%fﬁp f”LfT”'J#\iéEB’»o
;szifkli'— xi\bx,a ’fzj‘f’ﬁgﬂt&@ﬂ}%

A WEA FIFR - 27 02 £ 8:00~12:00- 75 1:00~5:00 £ 2FEHTF R
o

O &4Firke

L&A= d 38— & i 114(0 )F P FTBaR0 o 8 3 3T F P FLeizn £ 8 S o

2. % 8 2(6/22) 114(F )FHA ~ D e @Y o T2 2V Lgp > 52300 ~ - 52
3 LEE > & 100 &

3. 4P FE @\é&ﬂ;ﬂﬁiaﬁkg’%ﬁ@i%%ﬁﬁo%ﬁg&ﬁﬁu[%%J
O BRIV RELEY 6 BRFEK/2F 0 3 T BFk Bt By AN AT
Paz 14 2 p =3 béﬁdu%%és”% PREFIY

L. 3B 2R208# >  FEEF R EF - 3O -

.REXREDGFHRHFKEN - ﬁkﬁﬁi’fﬁ%ii#ﬁ TmERE ¢ = AKEY 5% 3 15:15
WHRF RS  BREDFEIFT A A RIL o FF R T RE R AP B P o

6.7v ~ {82 a2 *ﬁ@w$@§§%£4ﬁiﬁﬁoﬁ—é%%&ﬂﬁﬁ%w’rﬁ&»uiHT
7R Pinic Jf,iﬁﬁ BN RE] R d el R TR AR R RFIBRE R
WEHRT PFERFLL02L > R FED o

CEY Sgar s

L] ]
N



